
 

 

Hoja 2.1                                    Matemáticas 3º ESO                                      © FerMates 
Soluciones (Versión β, puede contener errores) 
 1.-  a)  – ab2c – 2ab 
 b)  2ab2c   
 c)  – 6a2b3c  
 d)  – 24a3b5c2  
 e)  – 2bc  
 
2.-    A = coef 3, grado 5; B = coef 1, grado 3;  C = coef 2, grado 5 
 
3.-  a)  7x3 + x2 – x  

b)  – x3 – x2 + 5x – 2   
c) 7x3 – 3x2 + 5x 
d) 2x3 + 3x2 + x – 3  

 e) 6x5 – 9x4 + 4x3 – 8x2 + 3x  
 
4.-  a)  6x5 – 6x4 + 9x2 
 b)  – 8x4 + 2x2 – 2x 
 c)   – 12x5 – 8x4 + 4x3   
 d)  6x4 – 11x3 + 3x2 + 6x – 2  
 e)  3x6 – 6x5 + x4 – x3 – 9x2 + 5x – 1   
 f)   – x5 + 3x4 – 3x3 + x2 + x – 1  
 

5.-  a) 2x2 – 
2
3

x + 1 

 b) 5x4 – 4x2 + 3x 
 c) 3x2  –  x + 2  
 d) cociente = x2 + 2; resto = 4x – 1  
 e) cociente = 2x2 – 2x + 3; resto =  – 4x + 4  
 f) cociente = x;  resto =  – x2 – 1   
 
6.-  a) 4x2 – 4x + 1    b) x4 + 2x2 + 1 
 c) a2 – 2ab2 + b4   d) x4 – 1  
 e) 4x2 – 9     f)  x4 – 16 
 g) 9x4 – 6x2y3 + y6   h) x6 + 4x5 + 4x4 

 

7.-  a) (x – 5)2    b) 
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 −x  

 c) (2x – y)2    d) (2 a – 3b)2  
 e) (4 a + 3b)(4 a – 3b)  f)  (2 + x)(2 – x) 
 g) (2xy2 + 5x)(2xy2 – 5x)  h) (x + 1)(x – 1) 
 
 


